Who will have more money in the bank at the Tenth Year Class Reunion?
Part 1:
Jack and Diane graduate from high school the same year.  Jack begins a full-time job, starting at $19,900 and keeps his part-time job (where he earns an additional $1,500 a year).  Jack moves into his own apartment, buys a new car ($400 a month for 4 years), purchases $1,300 worth of new clothing and goes on a one-week vacation to Florida.

Diane heads to Florida as well—to college, where tuition for the first year is $13,500 and a room in a dorm costs $7,000.  Diane works all 12 weeks of the summer for $350 per week, enters a work-study program at her school, wins a partial scholarship and qualifies for financial aid.  In addition, she sells her car for $1,000 and spends the money on clothes ($250 per year).

Use this information to complete Year 1 of the spreadsheet for both Jack and Diane.  Then forecast revenue and expenses over the next three years for each, making the following assumptions:

FOR JACK:  Revenue increases 3% each year over the prior year and all expenses, except the car payment, increase 4% each year (over the prior year).

FOR DIANE:  Revenue remains constant each year and expenses increase 2% each year.

Part 2:

Diane graduates from college and lands a job with an accounting firm, starting at $35,000 a year.  Diane gets her own place, buys a new car, takes a vacation, and can now spend more money on new clothes.  
Use this information to complete year 5 of the spreadsheet for Diane.  Then forecast revenue and expenses for both Jack and Diane up to the point they meet again at their tenth-year high school reunion, making the following assumptions:

FOR DIANE:  Revenue increases 10% each year over the prior year and all expenses, except the car payment, increase 4% each year over the prior year.  Assume that the car payment remains constant and is made for four years, starting with Year 5.

FOR JACK:  Same assumptions since graduating from high school.

Use the following formulas to complete your spreadsheet:
Savings/(Debt) = Total Revenue – Total Expenses

Cum. Savings/(Debt) = Previous year cum. svgs/(debt) +/- this year savings/(debt)
